

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	Fertilizer:24-2-11 with 2% Iron-		967-40	Fertilizer and Soil Conditioner Products	52,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			52,000.0000	0.35000	18,200.00	
783	1	John Deere Landscapes	Keith McGinty	6239			52,000.0000	0.37000	19,240.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			52,000.0000	0.34000	17,680.00	
2355	1	CentralGar denandPet	Amanda Stewart				52,000.0000	0.33500	17,420.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	Fertilizer: 18-2-18-40% SL Min.		967-40	Fertilizer and Soil Conditioner Products	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.33000	660.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.35000	700.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.31000	620.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.31500	630.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	Fertilizer: 16-4-8 50% SCU		967-40	Fertilizer and Soil Conditioner Products	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.28000	560.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.34000	680.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.26000	520.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.27100	542.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	Fertilizer: 18-0-10 50% Poly with Dimension		967-40	Fertilizer and Soil Conditioner Products	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.50400	1,008.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.48000	960.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.44000	880.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.52000	1,040.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	Fertilizer: 18-0-10 50% Poly with Bifenthrin		967-40	Fertilizer and Soil Conditioner Products	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.37000	740.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.42000	840.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.43000	860.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.43000	860.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	Fertilizer: 0-0-7 with Bifenthrin .69% A.I.		967-40	Fertilizer and Soil Conditioner Products	4,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			4,000.0000	0.16800	672.00	
783	1	John Deere Landscapes	Keith McGinty	6239			4,000.0000	0.19000	760.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			4,000.0000	0.25000	1,000.00	
2355	1	CentralGar denandPet	Amanda Stewart				4,000.0000	0.27000	1,080.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	Fertilizer: 16-4-8 with Prodiamine (Stonewall)		335	FERTILIZERS AND SOIL CONDITIONER S	4,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			4,000.0000	0.35840	1,433.60	
783	1	John Deere Landscapes	Keith McGinty	6239			4,000.0000	0.34000	1,360.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			4,000.0000	0.30000	1,200.00	
2355	1	CentralGar denandPet	Amanda Stewart				4,000.0000	0.38000	1,520.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	Fertilizer: 15-0-15 30% Slow Release		335	FERTILIZERS AND SOIL CONDITIONER S	32,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			32,000.0000	0.28200	9,024.00	
783	1	John Deere Landscapes	Keith McGinty	6239			32,000.0000	0.32000	10,240.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			32,000.0000	0.33000	10,560.00	
2355	1	CentralGar denandPet	Amanda Stewart				32,000.0000	0.28000	8,960.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	Fertilizer: 14-14-14 L&O 12% Slow Release		335	FERTILIZERS AND SOIL CONDITIONER S	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.32000	640.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.34200	684.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.36000	720.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.38000	760.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	Fertilizer: 13-13-13 Ornamental 90% Slow Release		335	FERTILIZERS AND SOIL CONDITIONER S	1,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1,000.0000	0.35400	354.00	
783	1	John Deere Landscapes	Keith McGinty	6239			1,000.0000	0.48700	487.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			1,000.0000	0.38000	380.00	
2355	1	CentralGar denandPet	Amanda Stewart				1,000.0000	0.46500	465.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	Fertilizer: 12-4-8 Flower Special		335	FERTILIZERS AND SOIL CONDITIONER S	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.29400	588.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.32000	640.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.28000	560.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.25000	500.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	Fertilizer: 8-10-10		335	FERTILIZERS AND SOIL CONDITIONER S	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.24200	484.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.35200	704.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.24000	480.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.23000	460.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	Fertilizer: 8-2-8		335	FERTILIZERS AND SOIL CONDITIONERS	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.20600	412.00	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.25000	500.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.20000	400.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	Fertilizer: 6-11-26		335	FERTILIZERS AND SOIL CONDITIONERS	4,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			4,000.0000	0.29680	1,187.20	
783	1	John Deere Landscapes	Keith McGinty	6239			4,000.0000	0.39500	1,580.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			4,000.0000	0.26000	1,040.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	Fertilizer: 5-3-0 Bio *Mini Prill SGN 150		335	FERTILIZERS AND SOIL CONDITIONERS	4,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			4,000.0000	0.14250	570.00	
783	1	John Deere Landscapes	Keith McGinty	6239			4,000.0000	0.21800	872.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	Fungicides: Daconil ZN		675-45	Insecticides and Fungicides, Liquid	5.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			5.0000	46.00000	230.00	
783	1	John Deere Landscapes	Keith McGinty	6239			5.0000	46.70000	233.50	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			5.0000	46.70000	233.50	
2355	1	CentralGar denandPet	Amanda Stewart				5.0000	31.87600	159.38	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	Fungicides: Manicure 6 Fl		675-45	Insecticides and Fungicides, Liquid	2.5000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2.5000	37.00000	92.50	
783	1	John Deere Landscapes	Keith McGinty	6239			2.5000	43.16000	107.90	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart				2.5000	35.00000	87.50	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	Fungicides: Heritage G		675-40	Insecticides and Fungicides, Dry	3,900.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			3,900.0000	1.73000	6,747.00	
783	1	John Deere Landscapes	Keith McGinty	6239			3,900.0000	2.17000	8,463.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			3,900.0000	1.80000	7,020.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	Fungicide: Heritage		675-45	Insecticides and Fungicides, Liquid	10.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			10.0000	502.00000	5,020.00	
783	1	John Deere Landscapes	Keith McGinty	6239			10.0000	317.00000	3,170.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			10.0000	509.00000	5,090.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	Fungicide: T-Storm Fl		675-45	Insecticides and Fungicides, Liquid	1.0000	EA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1.0000	59.60000	59.60	
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	198.00000	198.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				1.0000	196.88000	196.88	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
21	Fungicide: T-Storm 2 G		675-40	Insecticides and Fungicides, Dry	900.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			900.0000	1.40000	1,260.00	
783	1	John Deere Landscapes	Keith McGinty	6239			900.0000	1.53000	1,377.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
22	Fungicide: Mancozeb 4		675-45	Insecticides and Fungicides, Liquid	5.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			5.0000	34.40000	172.00	
783	1	John Deere Landscapes	Keith McGinty	6239			5.0000	22.40000	112.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			5.0000	30.40000	152.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
23	Insecticides: Top Choice		675-40	Insecticides and Fungicides, Dry	7,250.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			7,250.0000	2.50000	18,125.00	
783	1	John Deere Landscapes	Keith McGinty	6239			7,250.0000	2.75000	19,937.50	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			7,250.0000	2.50000	18,125.00	
2355	1	CentralGar denandPet	Amanda Stewart				7,250.0000	2.50000	18,125.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
24	Insecticide: Permethrin Pro 36.8%		675-45	Insecticides and Fungicides, Liquid	1.2500	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1.2500	58.00000	72.50	
783	1	John Deere Landscapes	Keith McGinty	6239			1.2500	55.77000	69.71	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				1.2500	58.68000	73.35	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
25	Insecticide: Malathion 5G		675-40	Insecticides and Fungicides, Dry	1.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
26	Insecticide: Malathion 5EC		675-45	Insecticides and Fungicides, Liquid	2.5000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2.5000	34.44800	86.12	
783	1	John Deere Landscapes	Keith McGinty	6239			2.5000	45.27000	113.18	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2.5000	35.20000	88.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
27	Insecticide: Bandit .5G (imidacloprid)		675-40	Insecticides and Fungicides, Dry	1,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1,000.0000	0.91660	916.60	
783	1	John Deere Landscapes	Keith McGinty	6239			1,000.0000	0.83300	833.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				1,000.0000	0.82000	820.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
28	Insecticide: Bandit 2F 21.4%		675-45	Insecticides and Fungicides, Liquid	40.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			40.0000	0.50000	20.00	
783	1	John Deere Landscapes	Keith McGinty	6239			40.0000	0.87500	35.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				40.0000	0.98000	39.20	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
29	Insecticide: Crosscheck 7.9% Bifenthrin		675-45	Insecticides and Fungicides, Liquid	1,160.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1,160.0000	0.26500	307.40	
783	1	John Deere Landscapes	Keith McGinty	6239			1,160.0000	0.27000	313.20	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			1,160.0000	0.29000	336.40	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart				1,160.0000	0.29000	336.40	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
30	Insecticide: M-Ped Soap		675-45	Insecticides and Fungicides, Liquid	2.5000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2.5000	29.80000	74.50	
783	1	John Deere Landscapes	Keith McGinty	6239			2.5000	30.00000	75.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
31	Insecticide: Horticultural Oil 98% Highly Refined		675-45	Insecticides and Fungicides, Liquid	2.5000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2.5000	18.00000	45.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2.5000	13.00000	32.50	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
32	Insecticide: Safari 20 SG		675-40	Insecticides and Fungicides, Dry	12.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			12.0000	106.00000	1,272.00	
783	1	John Deere Landscapes	Keith McGinty	6239			12.0000	130.00000	1,560.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			12.0000	115.72000	1,388.64	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
33	Herbicide: Aquatic Glyphosate		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	600.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
	212	1	Vereen Stores Inc	Andee DiCola	5801		600.0000	19.00000	11,400.00	
	783	1	John Deere Landscapes	Keith McGinty	6239		600.0000	22.00000	13,200.00	
	891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248		600.0000	19.50000	11,700.00	
	2355	1	CentralGar denandPet	Amanda Stewart				NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
34	Herbicide: Finale		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	250.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
	212	1	Vereen Stores Inc	Andee DiCola	5801		250.0000	56.00000	14,000.00	
	783	1	John Deere Landscapes	Keith McGinty	6239		250.0000	85.20000	21,300.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			250.0000	41.09000	10,272.50	
2355	1	CentralGar denandPet	Amanda Stewart				250.0000	15.60000	3,900.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
35	Herbicide: Certainty		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	25.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			25.0000	57.60000	1,440.00	
783	1	John Deere Landscapes	Keith McGinty	6239			25.0000	72.00000	1,800.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			25.0000	71.14000	1,778.50	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
36	Herbicide: Dismiss		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	16.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			16.0000	11.23600	179.78	
783	1	John Deere Landscapes	Keith McGinty	6239			16.0000	9.76500	156.24	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			16.0000	10.19000	163.04	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
37	Heerbicide: Dismiss South		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	2,016.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,016.0000	10.07125	20,303.64	
783	1	John Deere Landscapes	Keith McGinty	6239			2,016.0000	10.75000	21,672.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,016.0000	9.97000	20,099.52	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
38	Herbicide: Speedzone Southern		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	25.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			25.0000	62.40000	1,560.00	
783	1	John Deere Landscapes	Keith McGinty	6239			25.0000	70.00000	1,750.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			25.0000	64.36000	1,609.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
39	Herbicide: Celsius WG		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	100.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			100.0000	8.50000	850.00	
783	1	John Deere Landscapes	Keith McGinty	6239			100.0000	8.50000	850.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			100.0000	8.50000	850.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
40	Herbicide: Revolver		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	1.0000	QT	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1.0000	210.00000	210.00	
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	540.00000	540.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			1.0000	221.68000	221.68	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
41	Herbicide: Drive (Quinclorac) 75%		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	4.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			4.0000	43.00000	172.00	
783	1	John Deere Landscapes	Keith McGinty	6239			4.0000	41.00000	164.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			4.0000	46.17000	184.68	
2355	1	CentralGar denandPet	Amanda Stewart				4.0000	36.25000	145.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
42	Herbicide: Solitaire		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	12.0000	LB	No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801		12.0000	106.40000	1,276.80	
783	1	John Deere Landscapes	Keith McGinty	6239		12.0000	155.02000	1,860.24	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248		12.0000	111.63000	1,339.56	
2355	1	CentralGarde nandPet	Amanda Stewart				NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
43	Herbicide: Diquat SPC 2L		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	350.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			350.0000	58.00000	20,300.00	
783	1	John Deere Landscapes	Keith McGinty	6239			350.0000	78.00000	27,300.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			350.0000	57.80000	20,230.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
44	Herbicide: Fusilade II		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	1.0000	QT	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1.0000	66.37000	66.37	
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	94.89000	94.89	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			1.0000	66.40000	66.40	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
45	Herbicide: Lontrel		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	1.0000	QT	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1.0000	149.00000	149.00	
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	222.19000	222.19	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			1.0000	164.83000	164.83	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
46	Herbicide: Image 70 DG		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	11.4300	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			11.4300	84.00000	960.12	
783	1	John Deere Landscapes	Keith McGinty	6239			11.4300	12.44000	142.19	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			11.4300	7.95000	90.87	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
47	Herbicide:Tri mec Southern		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	30.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			30.0000	48.00000	1,440.00	
783	1	John Deere Landscapes	Keith McGinty	6239			30.0000	64.00000	1,920.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			30.0000	53.15000	1,594.50	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
48	Herbicide: Pendamethilin Pre-M 3.3 EC		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	2.5000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
	212	1	Vereen Stores Inc	Andee DiCola	5801		2.5000	35.60000	89.00	
	783	1	John Deere Landscapes	Keith McGinty	6239		2.5000	37.04000	92.60	
	891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248		2.5000	32.30000	80.75	
	2355	1	CentralGar denandPet	Amanda Stewart				NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
49	Herbicide: Pendamethilin G .86%		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
	212	1	Vereen Stores Inc	Andee DiCola	5801		2,000.0000	0.25500	510.00	
	783	1	John Deere Landscapes	Keith McGinty	6239		2,000.0000	0.24700	494.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
50	Herbicide: Prodiamine 65WDG		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	5.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			5.0000	10.75000	53.75	
783	1	John Deere Landscapes	Keith McGinty	6239			5.0000	12.60000	63.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			5.0000	13.54000	67.70	
2355	1	CentralGar denandPet	Amanda Stewart				5.0000	10.00000	50.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
51	Herbicide: Mansion		022-43	Herbicide, Insecticide and Fungicide Applicator and Distribu	90.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			90.0000	12.00000	1,080.00	
783	1	John Deere Landscapes	Keith McGinty	6239			90.0000	21.00000	1,890.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			90.0000	14.25000	1,282.50	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
52	Misc.: Blue Tracker Dye		335	FERTILIZERS AND SOIL CONDITIONER S	2.5000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2.5000	24.98000	62.45	
783	1	John Deere Landscapes	Keith McGinty	6239			2.5000	22.80000	57.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2.5000	34.25000	85.63	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
53	Misc.: Spreader/Sticker non - ionic		335	FERTILIZERS AND SOIL CONDITIONERS	45.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			45.0000	9.98000	449.10	
783	1	John Deere Landscapes	Keith McGinty	6239			45.0000	22.80000	1,026.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			45.0000	16.72000	752.40	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
54	Misc. Surfactant		335	FERTILIZERS AND SOIL CONDITIONERS	5.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			5.0000	9.98000	49.90	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			5.0000	14.68000	73.40	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
55	Misc. Dolomitic Limestone		335	FERTILIZERS AND SOIL CONDITIONERS	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	0.09960	199.20	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.11000	220.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			2,000.0000	0.11000	220.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.08500	170.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
56	Misc.: Turface (Pro Choice)		335	FERTILIZERS AND SOIL CONDITIONERS	2,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			2,000.0000	11.75000	23,500.00	
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.18500	370.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.19000	380.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
57	Misc.: Dye Blue		335	FERTILIZERS AND SOIL CONDITIONERS	290.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			290.0000	35.50000	10,295.00	
783	1	John Deere Landscapes	Keith McGinty	6239			290.0000	46.00000	13,340.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			290.0000	23.30000	6,757.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
58	Yucca Products: Terra-Sorb Medium Hydrogel		335	FERTILIZERS AND SOIL CONDITIONERS	55.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			55.0000	5.75000	316.25	
783	1	John Deere Landscapes	Keith McGinty	6239			55.0000	5.94400	326.92	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
59	Yucca Products: Yucca Wetting Agent		335	FERTILIZERS AND SOIL CONDITIONERS	50.0000	GA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			50.0000	80.79680	4,039.84	
783	1	John Deere Landscapes	Keith McGinty	6239			50.0000	36.80000	1,840.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
60	Yucca Products: MycorTree RootSaver Vertimulch		335	FERTILIZERS AND SOIL CONDITIONERS	72.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			72.0000	2.77300	199.66	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
61	Yucca Products: Flexx Turf Mix		335	FERTILIZERS AND SOIL CONDITIONER S	0.5800	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			0.5800	8.88700	5.15	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
62	Yucca Products: MycorTree Saver		335	FERTILIZERS AND SOIL CONDITIONER S	180.0000	OZ	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			180.0000	0.86900	156.42	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
63	Yucca Products: % off catalog list price		335	FERTILIZERS AND SOIL CONDITIONERS	1.0000	EA	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			1.0000	10.00000	10.00	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
64	Grass Seed: Perennial Rye		790-20	Grass Seeds	13,250.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			13,250.0000	1.05000	13,912.50	
783	1	John Deere Landscapes	Keith McGinty	6239			13,250.0000	0.91000	12,057.50	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				13,250.0000	1.08000	14,310.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
65	Annual Rye: Any Variety		790-20	Grass Seeds	12,000.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			12,000.0000	0.52000	6,240.00	
783	1	John Deere Landscapes	Keith McGinty	6239			12,000.0000	0.52000	6,240.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248				NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart				12,000.0000	0.49000	5,880.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
66	Bermuda Grass		790-20	Grass Seeds	250.0000	LB	CM No Output	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
212	1	Vereen Stores Inc	Andee DiCola	5801			250.0000	3.60000	900.00	
783	1	John Deere Landscapes	Keith McGinty	6239			250.0000	2.72000	680.00	
891	1	Bulloch Fertilizer Co., Inc.	Janet Sapp	6248			250.0000	6.00000	1,500.00	
2355	1	CentralGar denandPet	Amanda Stewart				250.0000	2.00000	500.00	